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Amoeba locomotes by:
(A) Cilia

(B) Pseudopodia

(C) Flagella

(D) Allofthese

Which is inlet of water in body of
Leucosolenia?

(A) Ostia

(B) Osculum

(C) Prosopyle

(D) Apopyle
Nematoblasts are found in:
(A) Protozoa

(B) Sponges

(C) Coelenterata

(D) Annelida

Ascaris is commonly called:
(A) Round worm

(B) Earthworm

(C) Silkworn

(D) Flatworm

Insulin is secreted from:
(A) Thyroid gland

(B) Adrenal gland

(C) Pituitary gland

(D) Pancreas
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10.

In Larthworm elitallum is found in
segments,

A) 13, 14,18

(B) 14,156,160

(C) 15,1617

(D) 16,17, 18
Legs in cockroch are;
(A) 8 paira

(B) 4 paira

(C) 3 paira

(D)‘ 2 pairs

To which discourse Mendel Is
associated.

(A) Genetics

(B) Evolution

(C) Ecology

(D) Cytology

How many segments are there in thorax
of insects?

(A) 6 ® b5

(C) 4 o) 3

Which one of these Is parasite as well
as host:

(A) Housefly
(B) Mosquito
(C) Ascaris

(D) Cockroach
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12.

13.

14.

15.

Ileum is part of:
(A) Intesting

(B) Pelvicgirdle
(C) Heart

(D) Liver

Who prcposed 'Theory of natural
selection'?

(A) Lamarck

(B) Darwin

(C) Mendel

(D) Morgan
Colourblindnessis a:

(A) Sexlinked character
(B) Sexlimited character

(C) Sexenfluenced character
(D) Allofthese

In ecosystem producers are:
(A) Greenplants

(B) Herbivorous animals
(C) Carnivorous animals

(D) Bacteria

In which of the following type of cell
division, the chromosome number
remains unchanged?

(A) Amitosis
(B) Meiosis
(C) Mitosis

(D) Allofthese
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16.

.

18.

19.

20.

How many chambers are there in heart
of Frog?

(A) 5

(D) 2

Power house of cell is:
(A) Mitochondria

(B) Ribosome

(C) Lyscsome

(D) Chromosome

If Hydrais cut in many pieces every piece
becomes a complets hydra after
sometime. Itis an example of :

(A) Asexual reproduction
(B) Sexual reproduction
(C) Regeneration

(D) Rejuvenation

In mammls bile is secreted from:
(A) Liver

(B) Gallbladder

(C) Kidney

(D) Pancreas
Entomology is study of:

(A) Sponges

(B) Insects

(C) Joints

(D) Bones
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The function of ribosome s
(A) Photosythess

(B8) Respwaton

(C) Proten synthesis

{L) Fatsynthess

The Bilogical process of removal of
excess water from the aernal parts of
plarts s called

(A Guttaton
(B) Trarspeaton
(C) Photorespraton
U} Respraton

The crygen releaned in photosyrihess
ooy trom

(A1 Water

™ CO,

€1 Caboryorate

O Phosphoghycrc aod

Vit & resporsibie for guitation?
Ay Owmoss

B Rook pressure

(Ch Toanspeation

Oy Pratosyrtess

VG arome o father of Gernotics 7
(A Mlervies

8 Beteson

€y TH Mogen
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0,

a7

28,

29.

30,

Double helical structure of DNA was
uiven by

(A) Watson and Criok

() Doadle and Tatum

(C)  Batenon and Punnet
(1) Jacob and Monod
Cuncuta inn

(A)  Partial root parasite
(1) Complete root parasite
(C)  Partinl stem parasite

(D) Completes stem parasite

Number of Amino Aclds involvad In
synthesis of Protein

(A) 300

(B) 40

(C) 20

(D) 22

The nitrogenous base which is not
prasent in DNA is:

(A) Adenine

(B) Uracll

(C) Thymine

(D) Cytosine

Onion is a modified form of
(A) Leaf

(B) Stem

(€C) Root
(D) None of these
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31.

32.

33.

35.

Covid 19is a:
(A) Bactena
(B) Virus
(C) Fungus
(D) Plant

Which blood group is known as universal
Donor:

(A A

(B) B

(C) AB

(D) O

Mycorrhiza is an association of:
(A) Higher plants and fungi
(B) Algae and fungi

(C) Lower plants and fungi

(D) BothAandC

The type of cell division in which
chromosome number is reduced to half
of the original chromosome number is?

(A) Mitosis

(B) Meiosis

(C) Binary fission

(D) None of the above

The crossing of heterozygous F4 with the

homozygous recessive parent is known
as:

(A) Testcross
(B) Polycross
(C) Topcross

(D) Reciprocal cross
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Clove, the commonly used spice 8 30 dfr oy um e B S O g
' far i B

obtained from the;

(A) Fruit (A) e
(B) Flower bud T Rl
(C) Stem () I
(D) Root (D) T
Bt-cotton is transgenic crop and is 37, SOl qe )&,y fesered fong aed
resistant to: Y
(A dmrd

(A) Disease
(B) Weed
(C) Pest

(D) Salinity

(B) @t
() @

(D) @I

gl @ -t e era Tt B

Which of the following is not a green 38,

house gas: ) COs

LD S5 B) Mo

(B) Methane

(C) CFC (€) .o,
(D)  eIgET

(D) Hydrogen
Juge ara gifee ot & Frm

The fundamental laws of heridity given 30,
by Gregor Mendel was a result of e N9 g ugqir & gftorg B?
experiment on which plant?
(A)
(A) Rice
(B) Pea B ==
(C) Wheat (C)
(D) Mango (D) a&H
Following is a C4 plant: 40, C4 ey ¥
(A) Sugarcane (A) T
(B) Papaya (B) gt
(D) Cauliflawer (D) w
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41.

42.

43.

44,

45.

Growing of a crop after the failure of
main crop is called:

(A) Covercrop

(B) Cashcrop

(C) Catchcrop

(D) Trapcrop

Petrology is the study of:

(A) Soll

(B) Naturaloil

(C) Nutrient management
(D) Rocks

Sweetest variety of mango is:
(A) Dashehari

(B) Langra

(C) Chousa

(D) Alphanso

The principal cereal crop of India is:
(A) Wheat

(B) Rice

(C) Barley

(D) Maize

Which of the following elements is almost
non essential for plants?

(A) Ca
(B) Na
(C) Zn

(D) Mo
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46.

47.

48.

49.

50.

The land levelling implement is:
(A) Patela

(B) Roller

(C) Scrapper

(D) Allof the above

Which breed of chicken lays the
maximum eggs?

(A) Kadaknath

(B) White leghorn

(C) Asil

(D) Giriraja

Gestation period of goat is:
(A) 148-152 days

(B) 140-145 days

(C) 250-252 days

(D) 175-180 days

Total geographical area of India is:
(A) 328.85mha

(B) 318.80mha

(C) 336.80mha

(D) 342.00 mha

Who decides the Minimum Support
Price (MSP) for agricultural crops in
India?

(A) Ministry of Agriculture
(B) NABARD

(C) Agriculture cost and price
commission

(D) Ministry of Commerce
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52.

54.

55.

The central 'Agmark’ laboratory is
situated at:

(A) Hyderabad
(B) Nagpur
(C) New Delhi

(D) Mumbai

Relative humidity is measured by:

(A)
(B)

Hygrometer
Pyranometer
(C) Lysimeter
(D) Evaporimeter

'‘Kashi Nandini' is a variety of:
(A)
(B)
(C)
(D)

Which crop having highest acreage in
India?

Tomato
Pea
Cowpea

Okra

(A) Wheat > Rice > Maize
(B)

(C)

Rice > Wheat > Sorghum
Rice > Wheat > Maize
(D) Wheat > Rice > Sorghum

The recommended fertilizer dose
(N:P:K) for cereal crops are:

(A)
(B)
(©)

4:2:1
3:2:1
1214

Dy 2:2:1

Page 13 of set-C

o1.

52.

53.

54.

55.

F5g ‘T gArEal e 2
(A)+ BaTEE

(B) Y

(€) 7% Rl

(D) T=

s ST A S o
(A) e

(B) UM

(C) wmgHmHIET

(D) gadriex

ey e e @

(A) T

(B) WX

(C) afern

(D) iHuE

R # B G BEa gad i Bnil &
(A) g > g > wEH

(B) am>ﬁ§>ﬁn?.

©) u > W > T

(D) g > 9 > =X

I HHAl B fAQ IE (FAH

BRERY : Qa9 H TR AGURH
-1

(A) 4:2:1
(B) -3:2:1
(C) 1:2:1
(O): 25241

B.Sc. Ag./625



56.

57.

58.

59.

60.

The weight of 100 seeds of a crop I8
known as:

(A) Seed Index

(B) TestIndex

(C) Test Weight

(D) Seed Test Weight

Locust warning organization is located
at:

(A) Jaipur

(B) Jodhpur

(C) Karnal

(D) Jaisalmer

The relative proportion of sand, silt and
clay is termed as;

(A) Soil texture

(B) Soil structure

(C) Soil mixture

(D) Soil profile

The average land holding of a marginal
farmerin India is:

(A) <0.5ha

(B) <1.0ha

(C) 1-2ha

(D) 2-4ha

Indian Grassland and Fodder Research
Institute is located at:

(A) Kanpur

(B) Karnal

(C) Gwalior

(D) Jhansi
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. 61,

62.

63.

64.

65.

One kilogram of nitrogen is equivalent
to:

(A) 3.22kgurea
(B) 2.17 kg urea
(C) 420kgurea
(D) 1.86 kg urea

'National Farmer's days' is celebrated
on:

(A) 23 November

(B) 23 October

(C) 23 December

(D) 23 September
Radish is an example of:
(A) Fusiform root

(B) Conical root

(C) Napiform root

(D) Tuberous root

Which of the following seed is sold to the
farmers for sowing purpose?

(A) Foundation seed
(B) Breeder seed
(C) Nucleus seed

(D) Certified seed

In which part of India rice is grown
throughout the year?

(A) East

" (B) South

(C) BothA&B
(D) North

Page 15 of set-C

61

62.

63.

64.

65.

‘

uds P o & quar b
(A)  3.22 fam ofrm

(B) 217 fam gfem

(C) 4.20 fwm gfr

(D) 1.86 famr gfra

g e fagw’ A e B
(A) 23 97T

(B) 23 JrEgat

(C) 23 famwar

(D) 23 fererart

gl qEE UF B 2

(A) THIAHT TG

(B) 9igHEY T8

(C) FHrEq w17

(D) &Y 2
Frefofta & & @9-w &9 ot &
g & Igaed A = A 87

(A) TERH 9
(B) Wi Aot
(C) @ 4
(D) gwifora e

w%ﬁmmﬁﬁg&a&mm

B.Sc. Ag./625



aa

67.

68.

69.

70.

Animal drawn mould board plough 8
alno called:

) Vietory plough

() Ridge plough

(C)  Rotary plough

(D) Deshiplough

Which Ia the oll seed cum fiber crop?
(A)  Sesame

(B) Lingeed

(C) Mustard

(D) Sunflower

Which one of the following is responsible
for repening of the fruits?

(A) Ethylene
(B) Ethanol
(C) Gibberellic acid

(D) Acetic acid

Bordeaw mixture is a

(A) Fertilizer

(B) Manure

(C) Fungicide

(D) Biofestilizer

The fertilizer also called nitro chalk:
(A) CAN

(B) MOP

(C) DAP

(D) KCL
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Among the following cereals, which has
the lowest protein content:

(A) Wheat
(B) Maize
(C)
(D) Rice

Sorghum

72. Most nutritions pulse crop is:

(A) Gram
(B) Pigeon pea
(C) Lentil

(D) Greengram

73. Mallika is a variety of:

(A) Apple

(B) Mango
(C)
(D)

Litichi

Guava

74. Most common method of surface

irrigation is:

(A) Flooding

(B) Basin method
(C) Furrow method

(D) Check-basin method

75. The Headquarter of Directorate of Plant

Protection, Quarantine & Storage is
located at:

(A) Faridabad
(B) Hyderabad
(C) Ghaziabad
(D) Pune
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8.

.

78.

79.

80.

Growing a single crop year after year on 76.
the same land is known as:

(A) Inter cropping

(B) Mixed cropping

(C) Sequential cropping
(D) Mono cropping

Best Suited soil for sugarcane cultivation .
is:

(A) Sandyloamy

(B) Clayloamy

(C) Loamy

(D) Clayey

Vermicompost is excreta of: 78.
(A) Cattles

(B) Earthworm

(C) Neruatodes

(D) Poultry

Barley is the good source of: 79.
(A) Protein

(B) Starch

(C) Malt

(D) Gluten

Middle layer of fruit wall is called: 80,
(A) Mesocarp

(B) Epicarp

(C) Endocarp

(D) Ectocarp
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(B) it ame
(C) dme

(D) Ferpit
FieraE Joaet &:
(A) g

(B) dgam

(C) TP
(D) T

o U aresr g &
(A) IS =
(B) wrd @
(C) T H

(D) T H

FetAT & He 9T P PEd B

(A)  Hrsirerd
(B) wdrmrd
(C) 3usrpry
(D) g
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81,

82,

83.

84.

A girlintreduced a boy as the son of the
daughter of the father of her uncle. The
boy is girl's:

(A) Brother

(B) Son

(C) Uncle

(D) Son-in-law

Arrange these words in alphabetical

order and choose the one that comes
last

1.Abandnn 2. Actuate 3. Accumulate
4, Acquit 5. Achieve:

(A) Actuate

(B) Accumulate
(C) Acquit

(D) Achieve

Four of the following five are alike in a
certain way and so form a group. Which
one does not belong to that group?

1. Tooth 2. Chin 3. Nose 4. Ear 5. Eye :
(A) Tootn

(B) Chin

(C) Nose

(D) Ear

If you write all the numbers from 1 to 100,
then how many times do you write 3 ?
A) 1

(B) 18

(C) 20

(D) 21
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81,

82.

83.

84.

0% A A o wgd g aen & fom 6
& 3 A2 & =y o ofvey woyn Ay
aed @ B

(A) g

(B) @

(C) wrEl

(D) &M

e @l B Aty # e w5t o
ot sifem amen ® g ayq #t-

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve :

(A) Actuate

(B) Accumulate

(C) Acquit

(D) Achieve

Frraferfer dre # & ar oF ffved i@
& o o of gafem o% agE & ¥
- I0 qe A gy 165 B

1. Tooth 2, Chin 3. Nose 4. Ear 5. Eye
(A) Tooth

(B) Chin

(C) Nose

(D) Ear

af oM 1 @ 100 @F F W e
feraa B, at amu fraeh a3 ferd #7

(A) 1
(B) 18
(C) 20
(L) 21
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85.

86.

87.

88.

Sam ranked 9th from the top and 38th
from the bottom in a class. How many
students are there in the class?

(A) 45
(B) 46
(C) 47
(D) 48

A manis facing north-west. He turns 90°
in the clockwise direction, then 180° in
the anticlockwise direction and then
another 90° in the same direction. Which
direction is he facing now?

(A) South

(B) Soth-West

(C) South-East

(D) East

Seismography is to earthquake as
Taseometer is to:

(A) Landslides
(B) Strains
(C) Resistances

(D) Volcances

In a certain code language COMPUTER
is written as RFUVQNPC. How will
MEDICINE be written in that code
language?

(A) MFEDJJOE
(B) EOJDEJFM
(C) MFEJDJOE
(D) EOJDJEFM
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85.

86.

87.

88.

o ot 8 n o & oF S R § agy
s @@ B @ § fea B #7

(A) 45
(B) 46
(C) 47
(D) 48

o el IE-ulvEd @ oY qE W &
@21 &1 g8 90° FiHAE (aRomad) R
¥ qear B, M GdeiART (@)
fesm & 180° ot fw St Rem # s
& 90° gea B1 o SEH 4e f6g fam
T B

C(A)  afErr

(B) aferor-qid=H
(C) aheror-gd
(D) w

e B T g d 3 8 #
o 2fardeT @

(A)  g&EEeE o
(B) Tq¥el &
(C) ufaqet |

(D) ERIgET |

U e g 9o ¥ COMPUTER &t
RFUVANPC & &9 & forar oiran 1 o9
%I 991 ¥ MEDICINE % forar som?

(A) MFEDJJOE
(B) EOJDEJFM
(C) MFEJDJOE

(D) EOJDJEFM
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g

91.

Arrange the words given below in a
meanngful sequence.

1. Poverty 2. Population 3. Death
4 Unemployment §. Disease

A 23,451
B) 3,4,2,5.1
©) 2,4,1,53

(D) 1,2.3,4,5

Direction : For the Assertion (A) and
Reason (R) below, choose the correct
altermative

Assertion (A) : We prefer to wear white
clothes in winter.

Reason (R) : White clothes are good
reflectors of heat.

(A) BothAand Raretrueand Risthe
correct explanation of A.

(B) BotrAandRaretruebutRis NOT
the correct explanation of A

(C) AistruebutRisfalse
(D) AisfalsebutRis true

A body has a positive charge of
6.4x107'°C . It has:

(A) Anexcess of 4 electrons
(B) Adeficiency of 4 electrons
(C) Anexcess of 8 electrons

(D) Adeficiency of 8 electrons
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89.

90.

91.

R Ru T ol B @ gdE A
et 1

1. i 2. e 3. g 4. q
5.

A 23,451
B) 3,4,2,51

C) 2,4,1,53

(D) 1,2,3,4,5

Ay M Ru T af (A) R
T (R) & fore, & few o

IVERE (A): B9 §Rdl § g%g F9s
& 6% & 2

T (R) : T F9 T B D T
2

(A) AIRRIT I E IR A A
T A=A B

(B) AR AT T 2 AT R A S
T8 e T8 3

(C) A 99 2 T R 7o B
(D) A Twd 8 dfT R 8§ i

T q& W 6.4x107"° @M o g ¥
I T W :

(A) 4 T P T B
(B) 4 I B FH B

(C) 8 SWaz &t arferyar &
(D) 8 AT P FH B '

B.Sc. Ag./625



82

93.

If & particle is projected at an angle of
60" with the horizontal with kinetic energy
E. then its kinetic energy at the topmost
point wou'd be

AE
(A) 'y
£
B8) - Y
) 2
D) E

A lens is formed by pressing two
identical plane convex lenses of focal
length 40 cm each. Itis used to obtain a
real, inverted image of the same size as
the object. The object must be placed at
a distance of:

(A) 40cm (B) 60cm

(C) 80cm (D) 100cm
Two thin parallel wires, seperated by a
distance » meter in air, are carrying a
current i amp each. The magnitude of
the force per unit length exerted by one
wire in the other wire is:

<2

Mol
(A) 2xr
o
B) 27r°
i’

©) I’.mf”2
sl
(D) 2xr
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02,

93.

94.

aft et w1 B &far & 60° B By oy
£ nfyw st & A AR B o 5
oy fag a7 gue afeer st a

E
A
E
|
£
(C) 5
(D) E

40 ¥, BFHE gl g A F FEA
guad I ddl B aHad dael B 0
TR A Het W d T ™ gE
da & Bl axy # anafes @9 Ie
afoferg &g & BT B T HAHT H
g i B foe awg # o | e gl
¥ @ area:

(A) 40 &, (B) 6034

(C) 80 . (D) 100 &

g ga @ gHEIT are qwd] o H. gl
WAy § @ ¥ o qds q [ ot @
g g8 W@ B 0 aR g a W
e afy wHe @ W g e

(A)

B 33

(©)

(D)
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g5. Aparticleis performing simple harmonic 95, TF 39 X3/ 3 T0& O@ 90 4

; motion along x-axis. If distances of the R W@ 8 3k §eg Rl | X, 9 X
icl it ,
s Par;c : froThthe r;nea?: pos:non are X, A W o 3w V, 7V, 3 &
b and X, with velocities ¥, and ¥ :
! ; ' . T e T o Aed A T 8
¥ respectively. The time period T of
oscillation is: [v2_ x2
- (A) T=2x =1
¥ R
: Ay T=i=
22
T=2x [2—L
®) y! X;-X{
‘ (B) T=2nx 2
(C) I=2x% !I}z_l’;
i (C) T =27 \‘ X5 =Xy
E P B
3 ) P'" 2-_ l.-
; ey Dy T=2mi—5"-5
) o), TS5 N\ =¥
96. Itthe wavelength of a photon is doubled, 96. IR Blem P qeRE A T K g,
then the momentum of the photon: IGH G
(A) Reniains unchanged (A) T T
(B) Isdoubled (B) 2 T B S
(C) Becomes half (C) omem & ™M
(D) None of these (D) T & 33 &
. ' 97. ThedeBrogliewavelengthofanelectron g7, ) de Riwemk W ®&Rd W5\ 3
accelerated to a potential difference of f-are o B
Vvoltis: - ﬁ_f:_ p
i 75 =
‘%: w (B Ly,
: " 50
B o4
15
® A ¥
. h
3 ‘__.10
b h 4° (©) N 2my
i & M ey
% o N-m (D) T 7 & FE T&
] (D) None of the above e T e
h = Plank's constant, m = electronic =
mass.
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98,

99.

100.

101.

102.

The refractive indices of glass and water

with respect to air are % and ?j

respectively. The refractive index of glass
with respect to water will be :

8 C
@ 3 ®
7
© < © 3

When a wave of light travels from air to
glass, its wavelength;

(A)
(B)
(€

Decreases
Increases
Remains unchanged

(D) None of these

An electric iron is marked 1Kw and 250
volt. The resistance of its heater filament
will be:

31.250Q (B) 6250

(D)

(A)

93750

(C) 1250

In an ammeter, 5% of the main current is
passing thirough the galvanometer. If the
resistance of the galvanometer is G, then
the resistance of the shunt will be :

(A) 19G (B) 20G
G G
© 5 ST

Which of the following is repelled by an
external magnetic field:

(B)
(D)

Cobalt

(A) Iron

(C) Steel Copper
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08,

89,

B q o & Ay & W Ayt
mngwgﬁliﬁﬂtﬁlm%mﬁm

aTqadE B

8 9
A 5 (B) 3
7 O
€ 5 O 7

g % e o & arg A s J o
T gHd ainedd:

(A) "t B
(B) =g
(C) arfrafde v 2
(D) & @ Hf

100. U% 4yd 34T 9T 1 fefiare a@ur 250

101,

102.

dive sifd B ga® FoT a=g @ sfady
e
(A) 31.25aMm (B) 6253

(C) 125 & 93.75 &M

% oTdIex # e U & 5% At #
o 1 B A groerd & gfede G 8
gie % gferde a8

(D)

(A) 19G (B) 20G
G G
9% W9 51s

Frer & & @ agg gradig @F and
uferafta érar & .

(A) I (B) Faree
(C) #a (D) 9T
B.5c. Ag./625




103.

104.

R e e T

PR S pyy e L

105.

106.

In a series L-C-R A.C. circuit,

R=100Q, X, =300Q and X =200¢.

The phase difference between the
voltage and current is;

(A) 0°
B) 37°
(C) 45°
D) 90°

A moving electron enters a uniform
magnetic field perpendicularly. Inside the
magnetic field, the electron travels along:

(A) Straightline
(B) A parabola
(C) Acircle

(D) Ahyperbola

A metal sheet of thickness half the plate
seperaticn is introduced between the
plates of a parallel plates capacitor. The
capacitance:

(A)
(B)
(C)
(D)

Arrange the following electromagnetic
radiations in the order of increasing
frequency:

(a) Bluelight

Remains unchanged
Gets doubled
Gets halved

Becomes infinite

(b) Yellow light
(c) X-Ray

(d) Radiowave
(A)
(€)

ab,dc
b,a,d,c

c,ab,d
d b, ac

(B)
(D)
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103, fpedt Aft L-C-R et gftqy & R=100

104,

105.

106.

3, X, =300 3w U1 X,=200 3l
&0 qRqy # dieeor aur U H e A
.5

(A) 0°

(B) 37°

(C) 45°

(D) 90°

T TRAM FAFH THEA G A
# 8 & crad AN HTA 81 by A
% g @ W & 9 A

(A) TH G @l

(B) TH AT

(C) T gw

(D) @ SfuRaed

Rl TR @ qafts @ @i @
d, @t & @9 # g A o A
el G1g g @ A o g
H e |

(A) omfafia it &

B8) & T & ot ¥

(C) omdt & e B

(D) oF & o B

P foga graata Rt @ s
% dod B H FaRyd HIR:

(@) ST ST
(b) ti’larm#rar
(€) X- foeor
(d) I qw
(A) a,b,d c
(C) b,ad,c

(B)
(D)

e ab,d
g.5.8 0
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107.

108.

109.

110.

(A)

The relative permittivity of water is 81. If
€g and € are permittivities of vacuum and
water respectively. Then:

€= 9¢
(B)
(C)
(D)

€= 81¢

€= 9gg

€= 81 €p

A closed surface has » electric dipoles

located inside it. The net electric flux
emerging through the surface is:

ne
A %

®) &

© =

Zero

(D)

€= permittivity of vacuum e=electronic
charge

If the length of a conducting wire is
increased by 10%, then its resistance

increases by:

(A) 10% 20%

(B)

(C) 21% (D) 5%

The total energy of an electron in the
ground state of Hydrogen atom is:

Zero
13.6ev
-13.6ev
-13.6 joule

(A)
(B)
(©)
(D)
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107.

108.

109.

110.

e & ae fagasherr 81 81 AR fefy
2o o @) fagaeiiard FAL €y T4 ¢

g an
(A)
(B)
(C)
(D) €=81¢g

%{ﬁﬁgﬁ'%‘iﬂﬁ“{na’gﬁf?ﬂ?@@
¥ o= g @ frla ¢ Aga W &

SO=98
gy = 81¢

g =9¢g)

ne

& 7

el T O @ @ 10% T91 fad
WM WX 39 9% aX & gy 7 e
gfoerd & gig ani:
(A) 10% (B) 20%
(C) 21% (D) 5%
BIEZIOH UTHTY] & A Holl &} § gadg
P F Feol el B
A) =
(B) 13.6 FFM-dlce
(C) -13.6 ITHRM-dIee
(D) -13.6 S

B.Sc. Ag./625



~ 111. The chemical formula of dead burnt
plasteris:

(A) CaSO,%H,0
(B) CaSO,

(C) CaSO4H,0
(D) CaS0,.2H,0

112. What will be the molality of solution

containing 18.25 gram of HC| gasin 500
gram of water:

(A) 01m
B) 1m
(C) 05m
(D) 1m

o iy e s ol o §

~ 113. InBr3Og compound oxidation number of
E _bromine is:

(A) 16/13 (B) 26/3
(C) 24/3 (D) 1613

114. Arrange the following hydrogen halides

in order of their decreasing reactivity with
propene:

e e L L e

(A) HCI>HBr>HI
(B) HBr>HI>HCI
(C) HI>HBr>HCI
(D) HCI>HI>HBr

ae wep bl aid b

115. Thermodynamically the most stable form
of carbon is:

sl Tl A il o

(A) Diamond
(B) Graphite
(C) Fullerenes

(D) Coal

e bl T el gen i BN g e b o

= S T g P VR T RO RLY M
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M. Feiofea 3 & o gu et & TEmats
W oA

(A) CaSO, %H,0
(B) CaSO,
(C) CaS04H,0
(D) CaS0,.2H,0
112, 919 18.25 W ERFIFIMNE N4 & 500

M o § e R @ o e
H N J A

(A) 0.1m
B) 1m
(C) 05m

(D) 1m

113. BryOg ¥ 819 1 Sraiieter g&
ari:
(A) 16/13 (B) 26/3
(C) 2413 (D) 16/3

114. F=ivfed eEgiv oS & AW 3
Y JRT 3 ged w9 iR

(A) HCI>HBr> HI
(B) HBr>HI>HCl
(C) HI>HBr> HCl
(D) HCI>HI > HBr

115. ISTCHIA MR W HEA H -4
IUEY =R B ¥
(A) IEMUS
(B) IS

(C) g
(D) i

B.Sc. Ag./625



v, frt & @ g e A oI B ford

116. Fora zero order reaction:

wy qél &
(A) !l o« @ (B) :-!‘ o A I I I
2 2 a (A) f,‘ o (B) !2 o '”*
(C) ;l < a® ,l o 4 ' I 2 [~ o I
2 (D) 2 ”2 ’ {C) 5™ % (D) 2 at

a—

117. Which of the following process is 17 R ¥ @ d-ar e A a3

responsible for the formation of delta at g : '
a place where rivers meet the sea: e den ¥, o At wE # e

(A) Emulsification (A)  qEHIHTT
(B) Colloidal formation (B) g H TN
(C) Coagulation (C) d™Ed

(D) QeI

(D) Peptisation
118. The IUPAC name of the following 118. Rretferfaa A & IUPAC A1 &7 BT

compound is:
\
\
(A) 4- Ay 3- B B 4- 3

(A) 4 Methyl-3-ethyl hex-4-ene (B) 4,4 =¥ Ay 3- At &ge -2- 7

(B) 4,4, Di methyl-3-methyl but-2-ene ©) 3 R 4- AR B 4-

(C) 3-ethyl4-methyl hex-4-ene

(D) 4 ethyl 3-methyl hex-2-ene (D) 4- TRrT 3- AT B -2
119. The SI unit of molar conductivity is: 119. MeR =@t @ S.1. gfre w&r arfl:

(A) S cm2mol-2
(B) S dm2Zmol-1
(C) Scm?

(D) S m2mol-1

(A) S cm2mol-2

(B) S dm2mol-!

(C) Scm?

(D) S m2mol-1
120. Which of the following is mineral of Iron: 120. M= & ¥ ®9-91 o1@es @ 1 e

(A) “Melachite (A) FEe
(B) " Cassiterite (B) FHreEe
(C) Pyrolusite : (C) uEleganEe
(D) Magnetite (D) FyerRe
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E 121

L 123,

L 124

125.

The number of unpaired electron in
Ni2*(z=28) is:

A 0

B 2

(C) 4

(D) 8

- Among the following which has smallest

ionic radii ?
Na* (B)
(D)

The material used in a solar cell contains:

Mg2*
PRt

(A)
©) AR

(A) Cs

(B) Si

(C) Sn

(D) T

Which of the following are extensive
properties:

(A) Volume and enthalpy

(B) Volume and temperature

(C) Volume and specific heat
(D) Pressure and temperature

For the Equilibrium reaction

N,O4 (9) = 2NO3 (9)

The concentration of N,O4 and NO, at
equilibrium are 4.8x10-2 mol L-1 and
1.2x10-2 molL-1 respectively. The value
of Kc for the reaction is:

(A) 3x10-1 mol L~
(B) 3x10-3mol L1
(C) 3x103mol L~
(D) 3.3x103mol L1
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121

122.

123.

124.

125.

Ni2H(z=28) & argfad gl B HEA

&

A) 0

|B) 2

(C) 4

(D) 8

Ry § & et omafvh Bon dad
B e

(A) Na* Mg?*

(B)

(C) AR+ D) P
Reg o @ SN AR ¥Aa # g H
B &

) Cs
(B) Si
(C) Sn

I 1

N,O4 (9) = 2NO2(9)

N,O, 3 NO, # |l H¥I: 4.8x10-2
e -1 T 1.2x10-2 8 1R, @
qrgaer & e arRaT® Ke @ TORT
FHifor:
(A) 3x10-1 A &l
(B) 3x10-3 4 &1
(C) 3x 103 Hiet &t~
(D) 3.3 x 103 A a1

B.Sc. Ag./625



126.

127.

128.

129.

Numper of x bonds and ¢ bond in the
following structure are :

(A)

6,19
(B) 4,20

(C) 5,19
(D) .5,20

The vitamins absorbed from intestine
along with fats are :

(A) AD () AB

(C) AC (D) D,B
Zeigler-Natta catalyst is used to prepare:
(A) Low-density polythene

(B) Teflon

(C) Highdensity polythene

(D) Nylon-6

Correct structure of the drug
paracetamol :

A HO_O_CONH,_
(B) HO_@NHCOCH3
(©) CP@—CONHz

©) H2N©£02NH2
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. :

126, M2 RA Hee & B o a4 g g,

127,

128.

P FE A

A ol

"~

Hjl l]‘

. NP

\/;
I H

(A) 6,19

(B) 4,20

(C) 5,19

(D) 5,20

fr & | Bre-be W et orfa § au

& gy ety axft ¥

(A) A D (B) A B

¢} AL (D) D, B

R el I8 1 IudrT e & @

Rpgep! 9 & Rear st €

(A) T OId B QREH B

(B) T

(C) oI B B TREH B

(D) -6 H

129. Prffag & @ PF-a1 TE A

YfiemE &

A) HO—@—CONH2
(8) HO-Q—NHCOCH3
(©) CI—QCONHZ
(D) H2N©—802NH2

B.sc. Ag./62°



0, The correct increasing order of basic
strength for the following Compounds:

NH, NH
NH, "

(I)O (1 (1)
NO

2 CH,
(A) HI<I<II
@) M<l<I
() NM<I<Il
0) H<II<I

- 131 1f a+1, 3a, 4a+2 in Arithmetic
Progression (A.P.). Then value of ais:

(A) 1 (B) 10
(C) 3 D)y 5

132. Which term of the Arithmetic Progression
(AP)17,15,13........ is the first negative

term:
(A) 1 (B) 10
(C) 8 (D) 9

133. Which term of the Geometric
Progression (G.P.) 1,3,3........1s 817

(A) 5 B) 7
(C) 8 D)y 9
134. Volume of sphere is [ﬁ;’i] cube
centimeter. Diameter of sphere is:
A) 1 B) 2
(C) 4 Oy 3
135. The number of edge in a cube will be:
(A) 6 (B) 8
(C) 12 (D) 16
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130. 48 3 md Mt 3t oyt g g

W & agd o o B
NH, NH,
NH,
U)O ‘“’O am@
NO, CH,
A) Tll<I<]]

(

(B) II<Il<I
(C) N<I<III
(D) IM<II<I

131. afd a+1, 3a, 4a+2 Gar Aof F &

a @l g B
(A) 1 (B) 10
(C) 3 (D) 5

132, g9= 2ot 17, 15, 13........ & HA-aT
% qUH RS T8 B

(A) 1 (B) 10
(C) 8 D) 9
133, PR &t 1,\/3.3....... ® DA @
81 &
(A) 5 (B) 7
(C) 8 (D) 9

134.%%%%(%’}%%&%
e & S B

(A 1 B 2
(C) 4 (D) 3
135. U g9 § R A GEn e
(A) 6 (B) 8
(C) 12 (D) 16

B.Sc. Ag./625



136, AR 12P =11Pe+ 6 P I um y,

136. If 12P, =11Pg + 6 11P5Then value of is:

6
a6 (A)
5
B 5 (B)
7
€ 7 5
8
D) 8 (D)
A 137, 10 el & W ¥ 5 Rewied 4
137. In how many ways on 5 sportsmen b€ g & Ry fafert &7
selected from a group of 10?
(A) 252
(A) 252
(B) 220
(B) 220
Cc) 30240
(C) 30240 =
D) 1
B (D)
138. The roots_pfequation Joc2—dx+k=02ar€ 138. FHIHTT k‘fz“4x+k=0% T T,
equal. Then the value of kis: al k B A R
(C) #2 (D) O (C) %2 (D) ©
139. Value of 15Cg + 15Cg— 15C; = 15Cg: 139, 15Cg + 15Cg — 15C; — 15Cq & HI BT:
(A 1 A 1
(B) 0 (B) 0O
(C) 425 (C) 425
(D) 10 (D) 10
140. Valueoftan1°.tan2°tan 3° ....... 2 o
tan89"  140. 1°.tan2°tan 3° ....... tan 89° F A AT
(& B A) 0
(B) B) o
(C) 1 (C) 1
(D) 89
(D) 89
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144 Value of

. Tefolowing wil be ratonal numey
A Sin15*

8 Cos15°®

) Sin15° Cos15°

©) Sn75" Costs®

u edenof 10,12.11,13,17.20 21 15
19“2‘5

N 17

® 20

€ 15

0 13

‘. Wi Hema=" "IO Then the value of cos 2,
' 5

~15
W T
-3
8 To
- T

O

m‘«;cun‘t
o8 S + cos 3x
(A) tanx

B) mndx

({C) wndx

Oy 1

W M= b and b = o will be the value of
Iy

Ay 1 (B)
iC) a Dy b
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141

142

143

144

145

maammm
(A) Sints®

(B) Cositse
() Sin15°Cos15°
(D) Sin7s° Cos15°

10,12, 11,13, 17, 20, 21. 12, 19 a@
25 B wftgw 2
(A) 17

8) 20
(C) 15

Oy 13

W sina =Y & cos2q WA AW

34

o BTy

Sln‘l *\Iﬂ Iy

I —

W AE A

08 Sx + O 3x
(A) tanx

(B) tandx
(C) tanlx

o 1

Wb P =By T
B

A) 1 ® 0

(C) a O b
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146.

147.

148.

149,

150.

If x o v and y = 72. When x = 48 then
value of x, when v = 36.

(A) 36
(B) 12
(C) 24
(D) 213

If log @ + log b = log(a-b) then relation
between a & &

D i

ab=1
a+l

(A) (B)

bw atl

o

(C) a=bd (D)

IfA= {1,2.3,4] and B={4.5,6.7}. Then
value of (B -A):

(A) {5,6.7}

(8) ({1.2,3}

© 4

(D) 1{1.2.3.,4.5,6,7}

Point (x,~1), (2,1) and (4.5) are collinear.
Then value of x is:

(A) 2

| 1

(C) 3

(D) 372

Find the slope of the line whose

inclination with the positive direction of
x—axis is Cot-1 (2/3)

(A) 273
(B) 312
() 1
(D) -1
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146

147,

148.

149

150.

AR o p T v T2, M =48 ) ®
e o DR o =36,

(A) 36

B 12

(C) 24

(D) 23

AR loga +10g b = log(a-b) & « wy ,
¥ g b

o

& R ® ab=i
(C) a=h (D) b= f':l
qR A= {1.2,3,4] @ B={4.56,7) &

(B ~A) ® =\ 8h

(A) 1567}

[ ]

B) {123

©) {4}

(D) {1.2,3,4,5.6,7)

R (x~1), (2,1) and (4,5) Tt ¥ & »

& e

(A) 2

B) 1

C) 3

(D) 3

I W Y W v s i e

;—am!ﬁ e R & g Cot-! (29)
|

(A) 273

(B) 32

(C) 1

0) -1
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